

Notation:

$$\sum_{i=a}^b \# f_i = \begin{cases} \sum_{i=a}^b f_i & \text{if } a \leq b+1 \\ -\sum_{i=b}^a f_i & \text{if } a \geq b+1 \end{cases} = \sum_{i=a}^b f_i - \sum_{i=b+1}^a f_i \quad (\text{so the indices are: } [a, \infty) - [b+1, \infty))$$

e.g. $\sum_{i=3}^5 \# f_i = \sum_{i=3}^5 f_i = f_3 + f_4 + f_5$

$\sum_{i=3}^5 \# f_i = \sum_{i=3}^5 f_i = 0$ and $\sum_{i=5}^3 \# f_i = -\sum_{i=3}^5 f_i = 0$ (using the lower formula)

$\sum_{i=5}^3 \# f_i = -\sum_{i=3}^5 f_i = -f_3 - f_4 - f_5$ (indices are: "[5, \infty) - [3, \infty)")
 $\leftarrow \because -"3", -"4", -"5" \text{ are left, giving } -f_3, -f_4, -f_5$

Prop 4.2.1: For any $a \in \mathbb{Z}$ and $\vec{b} = (b_1, \dots, b_d) \in \mathbb{Z}^d$, we have

(i) $[D_{a_1}, D_{b_1, \dots, b_d}] = -M \sum_{i=1}^d \sum_{k=a_i}^{b_i} \# D_{b_1, \dots, b_{i-1}, k, a+b-k, b_{i+1}, \dots, b_d}$

(ii) $[E_{b_1, \dots, b_d}, E_a] = -M \sum_{i=1}^d \sum_{k=A_i}^{b_i} \# E_{b_1, \dots, b_{i-1}, a+b_i-k, k, b_{i+1}, \dots, b_d}$
 $\leftarrow \sum_{k=3}^5 \text{ is } k=3 \text{ only} \quad \leftarrow k=0, 1, 2, 3 \quad D \rightarrow -D$

e.g. $[D_3, D_{3,1}] = -(1-q)(1-t) \left(\sum_{k=3}^5 \# D_{k, 3+2-k, 1} + \sum_{k=4}^5 \# D_{a, k, 3-1-k} \right)$
 $= -(1-q)(1-t) (-D_{3,2,1} - D_{2,0,4} - D_{1,1,5} - D_{0,2,6} - D_{-1,3,7}) = (1-q)(1-t) (D_{3,2,1} + D_{2,0,2} + D_{2,1,1} + D_{2,0,0} + D_{2,3,-1})$

$[D_3, D_{2,1,5}] = -(1-q)(1-t) \left(\sum_{k=4}^5 \# D_{k, 3+2-k, 1, 5} + \sum_{k=4}^5 \# D_{2, k, 3+1-k, 5} + \sum_{k=4}^5 \# D_{a, 1, k, 3+5-k} \right)$
 $\leftarrow k=4, 5$

write all indices in the reverse order

$= -(1-q)(1-t) (D_{3,2,1,5} - D_{2,0,2,5} - D_{2,1,1,5} - D_{2,2,0,5} - D_{2,3,-1,5} + D_{2,-1,4,4} + D_{2,1,5,3})$

$[E_{-1,2}, E_3] = -(1-q)(1-t) (E_{-1,2,3} - E_{2,0,3} - E_{1,1,2} - E_{0,2,2} - E_{-1,3,2})$

To prove the proposition, we need the following notation and Lemma:

(1) Recall $\Omega_2 [a_1 + a_2 + \dots - b_1 - b_2 - \dots] = \prod_{i=1}^{\infty} \frac{1-b_i}{1-a_i}$

$\therefore \Omega_2 [Mz] = \frac{(1-qz)(1-tz)}{(1-z)(1-qtz)}$ and $\Omega_2 [-Mz] = \frac{(1-z)(1-qtz)}{(1-qz)(1-tz)}$

(2) For any $f(z) = f(z_1, z_2, \dots, z_m)$ antisymmetric in z_i and z_{i+1} for some $1 \leq i \leq m-1$, we have

$H_{q,t}^m (\Omega_2 [M \frac{z_i}{z_{i+1}}] f(z)) = 0$

Proof: $H_{q,t}^m (\Omega_2 [M \frac{z_i}{z_{i+1}}] f(z)) = \sum_{\omega \in S_m} \omega \left(f(z) \frac{(1-q \frac{z_i}{z_{i+1}})(1-t \frac{z_i}{z_{i+1}})}{(1-\frac{z_i}{z_{i+1}})(1-qt \frac{z_i}{z_{i+1}})} \prod_{1 \leq j < k \leq m} \frac{1-qt \frac{z_j}{z_k}}{(1-\frac{z_j}{z_k})(1-qt \frac{z_j}{z_k})} \right)$
 $= \sum_{\omega \in S_m} \omega \left(f(z) \frac{(1-q \frac{z_i}{z_{i+1}})(1-t \frac{z_i}{z_{i+1}})}{(1-\frac{z_i}{z_{i+1}})(1-qt \frac{z_i}{z_{i+1}})} \prod_{1 \leq j < k \leq m} \frac{1}{1-\frac{z_j}{z_k}} \cdot \prod_{1 \leq j < k \leq m} \frac{1}{1-\frac{z_k}{z_j}} \prod_{1 \leq j < k \leq m} \frac{(1-qt \frac{z_j}{z_k})(1-\frac{z_j}{z_k})}{(1-qt \frac{z_k}{z_j})(1-\frac{z_k}{z_j})} \right)$
 $\leftarrow \prod_{1 \leq i < j \leq m} \frac{1}{1-\frac{z_i}{z_j}}$
 $\leftarrow \text{cancels with } \prod_{j < i, k=i+1} \frac{1}{1-\frac{z_i}{z_k}}$

$= \sum_{\omega \in S_m} \omega \left(f(z) \cdot \prod_{1 \leq i < j \leq m} \frac{1}{1-\frac{z_i}{z_j}} \cdot \prod_{1 \leq j < k \leq m} \Omega_2 [-M \frac{z_j}{z_k}] \right) = 0$
 $\leftarrow \text{invariant under } \omega \in S_m$
 $\leftarrow \text{invariant under } S_i$

There is a bijection between $\{\omega \in S_m : \omega(i) = i+1\}$ and $\{\omega \in S_m : \omega(i) = i-1\}$

via the map $\sigma \mapsto \tilde{\sigma}$:

Hence all elements are of the form $\omega \circ \sigma$ with $\omega(i) = i \pm 1$

i.e. we can split S_m as $\{\omega \in S_m : \omega(i) = i \pm 1\} \cup \{\omega \in S_m : \omega(i) = i\}$

Hence LHS = $\sum_{\omega \in S_m} \omega(f(z)) \prod_{1 \leq i < j \leq m} \frac{1}{1-\frac{z_i}{z_j}} \prod_{1 \leq j < k \leq m} \Omega_2 [-M \frac{z_j}{z_k}]$
 $\leftarrow \ell(\omega) = \ell(\omega) + 1$
 $= \prod_{1 \leq i < j \leq m} \frac{1}{1-\frac{z_i}{z_j}} \sum_{\omega \in S_m} (\omega(f(z)) + \omega(\tilde{\sigma}(f(z)))) \prod_{1 \leq j < k \leq m} \Omega_2 [-M \frac{z_j}{z_k}]$
 $\leftarrow \ell(\omega) = \ell(\omega) + 1$
 $= 0 = \text{R.H.S.}$

